Good Morning Year 3

YOR
HoPe you are all welll Did you have a good [TI1I1LULE
doy yesterday? I hope that you oll worked  DETERMNES YOIR
hard on your tasks. Yesterday, I qove out 50~y w

|
L moon. ‘

stars.> |

DoJos for fo,nlo,shc work...can we beal thal

ITOdO,H? KeeP sending me Pictures OJI HOU,F WOFI(.

Let's start our clo,ﬂ Off with o dance. Todaﬂ, you can choose if you want fo dance with Ok
or dance with J’ust dance. I am going lo Join Ok kodaﬂ. @

Next UP, we hOVG mo,Hls.

Todaﬂ, we are going lo be divid'mg bH k. Remember we can divide bg sho,r'mg or grouping.

Sharing

Lucy has 12 sweets and shares them between 3 of her friends. How many sweets does
each friend get?

Wea would say:

@ @ @ 12 sweets shared between 3 paople gives 4 sweets each.

The answer lies in the value of each equal share.

Grouping

Lucy has 12 sweets. She wants to put them into bags of 3. How many bags will she
have?

We would say:
m m m m 12 sweets put into bags (groups) of 3 gives 4 bags (groups).

The answer lies in the number of egual groups.




Choose your chilli cha”enge below.

1a. True or false? The calculation below is
comect,

20 * 4 = ¢4 w

5a. True or false? The calculation below is
comect,

40 4 =9 1
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2a, Circle the comect answer.
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12+4=?]
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4a. Circle the comrect answer.

24-:4=?‘
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3a. Use the number line to solve the
calculation.

7a. Use the number line fo solve the
calculation.

4 children share 8 marbles equally.
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Complete the calculation to show how

many each child receives.
M = =
& J-U-UJ

8a. 4 children share 12 cubes equally.

Complete the calculation fo show how

many each child receives.

2a. True or false? The calculation below is
comect, Complete the bar model to help
you,

45 = 4 = 12 w

10a. Circle the comrect answer.

i«

sz+4=?‘

11a. Use the number line to solve the
calculation.

28 £ 4 = 2 J

12a. A mechanic has 14 new fyres. How
many cars can he fit with a full set of new
tyres?

Complete the calculation fo show how
many cars will gef a new set of tyres.

0-0-0




Cha”enge

5a. Write a word story and the division
calculation to match the image below.
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OUJ‘ nex lesson is Enghsh

Co,n BOU remember WhOL aur fOCU,S iS?
YGS! Sl:jnom:jms. \A”’IO,L is a sgnonﬂm...email me HOUI" answer J.'Of‘ 3 DOJOS.

Can you find all the synonyms for walk in the word search? There are 13 synonyms lo pncl
in olal.
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SYNONYM WORD SEARCH

Challenge — use the synonyms ound lo creale senkences.
Can you edit and improve my senfence using a synonym for walk and said?
‘Lek's go for ancther walk now.” said the T-rex who was walking with the diplodocus.
‘Bul my legs are tired. I don't wank to walk again.” said the diplodocus.



Next up is ho,ndwrihng

Praclise these words in your book, using the Joins we have learnt.

documenk done double

dOUblﬁ ClOCkOF dOWI’I

| y
s— Ou,r final lesson is science.
Toclo,lj, we are go'mg lo be revisihng mo,gnehc forces.

I would li|<e you bo inveshgate ifems in your house and inveshgate if H‘»eﬂ are magnehc or

noL USC a lable l70 recorcl HOU,F resuus, FOF example:

Household item Is it magnehc? Yes or no

SPOOD Yes

II.' HOIJ dO not have a magnet in Hour house, use a J:ridge magnet.

After H‘»is, I want you lo wrile up your results and explo,'m the tﬂpes of malerials thal are

magnehc and the malerials thal are not.

GTGO,L WOFI( EOCJ,O,H ClO,SS 3 Dld HOU, leo,rn HOUJ‘ Poem Hesterdaﬂ tOO? KeeP Pro,chsing o,nd

keep an eye out for some queshons lo checkl
Remember fo complete your doilg reoding and enJoH some time oulside.
Tonight, Iam going lo do an online Zumba clo,ss... you know how much I love dancingl

HOVC a SU,PGI" dQHI

Mrs Martin




MOH’LS answers

l1a.False; 20 =4 =5
2a. 3
3a. 4
40.8+4=2

5a. False; 40 = 4 =10 fa. True

&a. & 10a. 8

Ta. 12 11a. 7
B80.12=4=3 120. 14 =4=4

English answers
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SYNONYM WORD SEARCH ANSWERS




